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1. % |
N—IREHFTE(HA)
% A
3 B FERI0ERE T3 EE
FEHE | Bt FEE | #gak [dEnek
1.t B 7,910,595 29.6 8,127,056 29.7 27
2. vl = 5 B 268,800 1.0 252,300 09 AB61
3. # F oo oz & % 10,900 0.0 12,900 0.0 18.3
4 B = 2 % #+ % 12,700 0.0 14,000 0.1 10.2
MR EERS B XM S 13,800 0.1 15,900 0.1 15.2
6. K K B B X H £ 1,312,800 4.9 1,362,600 5.0 38
79 00 7 B R A B X H £ 67,400 0.3 58,200 02 A 136
8.8 & = I & B X # £ 76,400 0.3 27,900 01 A 635
BB EHRBEMEDXNS - - 20,600 0.1 e
10 EERUERERETIRNBRZ £ 580,739 2.2 592,238 2.2 20
M 5 H @ % & £ 52,028 0.2 122,414 0.4 e
12. 5 3z 1+ B 4,879,000 18.3 5,187,000 18.9 6.3
BExBELZL2ATERENXTH £ 9,600 0.0 8,400 00 A 125
144 B £ R U & # 2% 207,326 0.8 162,168 06 A 218
5.6 B B R U F #H 582,425 2.2 596,585 2.2 24
16. = % H & 4,837,264 18.2 4,900,964 17.9 1.3
17. 38 % H & 1,982,221 7.4 2,212,625 8.1 1.6
18. &t 5 Iy A 124,855 05 27,903 01 A777
19. %% B & 510 0.0 510 0.0 0.0
20. 42 A & 921,059 35 865,754 32  AB0
21. 42 i & 100,000 0.4 100,000 0.4 0.0
22. 5% Iz A 333,678 1.3 421,883 15 26.4
23. ™ = 2,356,900 8.8 2,284,100 8.3 A 3.1
% A = B 26,641,000 100.0 27,374,000 100.0 2.8
% H
Rl g E R 30EE ERITEE
FEE | Bk FEE | #gRk | demEk
1. & = z 182,425 0.7 185,200 0.7 1.5
2. % 7 & 1,546,654 5.8 1,651,286 6.0 6.8
3 B o Z 9,674,151 36.3 10,320,143 37.9 6.7
4. 1 o = 2,919,684 11.0 2,683,950 9.8 A 8.1
5 % & & 18,205 01 24,233 0.1 33.1
6. B o 7K B * & 447412 1.7 583,448 2.1 304
7. 75 T Z 571,420 2.1 571,715 2.1 0.1
8. = N & 3,036,969 114 3,079,222 11.2 14
9. H 3] & 214,407 0.8 176,150 06 A 178
10. % 5 & 1,820,954 6.8 1,895,749 6.9 41
1. % = 0] |5 & 2 0.0 2 0.0 0.0
12. & & 2,307,267 8.7 2,332,002 8.5 1.1
13. B = & 3,896,450 146 3,865,900 141 A 08
14. % 1% % 5,000 0.0 5,000 00 00
% & = B 26,641,000 100.0 27,374,000 100.0 2.8

(BHH RF M B =R BER
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2)EN=EHFE(E)

OEERERR
B g R 30EE SHTTAEE

yEE | #Hk FE%E | #Hk | EER

1. BE & B R’ B B 1,244,024 18.0 1,098,450 164 A 117
2. & % H & 5,014,131 72.5 4,926,582 738 A 17
3. 42 A & 642,199 9.3 643,303 96 0.2
4 18 723 & 10 0.0 10 00 00
= ijg A 14,249 0.2 12,225 02 A 142
% A & 6,914,613  100.0 6,680,570 1000 A 34

1. 4 # % 155,333 2.2 142,515 2.1 A 83
2. % B B B 4924100 713 4,851,508 726 A 15
CERBREERBRELEML S 1,682,078 243 1,608,158 24.1 A 4.4
4% B T X B oK % 2 0.0 2 00 00
bR B = % % 68,942 1.0 72,071 1.1 45
6. 5% % H & 84,148 1.2 6,306 01 A 925
7. % % % 10 0.0 10 00 00
5 H & 6914613 1000 6680570 1000 A 34

(BRD BB B =R EGR

(BA-FH. %)

QLB EER
- TR0 E SHITEE
FEE | #Eh FE % | #HE | WEiER
Y s B EERRBAM 725,944 74.4 743,941 75.2 25
2. 4% A & 245917 25.2 242,465 245 A 14
3. 18 4 & 1 - 1,100 0.1 18
4 % ijd A 2,002 0.2 1,701 02 A 150
5. & H & 1,618 0.2 0 0.0 EE
% A & 2t 975482  100.0 989,207  100.0 14
1. 4 % S 45430 47 51,061 52 12.4
2 R EBEERLKEEAMLS 927,952 95.1 936,346 94.6 0.9
3. 5% 53 H & 2,000 0.2 1,700 02 A 150
4. % 1 % 100 0.0 100 00 0.0
% H & 975482  100.0 989,207 1000 14
(BB TR B = B BER (BA7:FM. %)
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5 g 305 & SHTEE
>EmE | #u >amE | Bk | genEk
TN #Z B B W 1,009,478 219 1,008,679 20.9 A 01
2 s H 4 1,036,202 225 1,064,081 22.0 27
3 & % H & 648,075 14.0 685,186 14.2 5.7
4. % H x 4 & 1,159,903 25.1 1,216,523 25.2 49
5. Bt E e A 527 00 683 0.0 29.6
6. & A & 760,490 165 854,469 17.7 124
7 4@ # & 1 0.0 1 0.0 0.0
8 % i A 50 0.0 50 0.0 0.0
5 A & 4614726 1000 4829672 1000 47
1.4 % & 160,810 35 171,292 35 65
2. B O & B 4,054,274 87.9 4,280,425 88.7 56
3y B X B OE % OB 397,664 86 375,821 78 A 55
LE & B O OI % 527 0.0 683 0.0 296
5 % % & 1,351 00 1,351 00 0.0
6. % 1 - 100 0.0 100 00 0.0
5 H 2 4614726 1000 4829672 100.0 47
(B B SR R (Bh7 : TH. %)
@i REEEEY
5 g 302 & SHTEE
>Eam | BB >amE | Bk | sinEk
1. BE X H % 129,000 479 81,600 283 A 367
0. 18 A & 42 875 15.9 75,870 26.3 77.0
3.7 & 97,400 36.2 130,700 454 34.2
% A & 269275 1000 288170 100.0 70
1+ #h K B % 18 =5 % & 240904 895 244,249 848 14
VI = = 28,371 105 43921 15.2 54.8
% H & 269275 1000 288170 100.0 70
(B B SR BEE (B - TH. %)
@A EL
& g 30 & TR
T E% | Bk TEHE | #ik | 8EElk
1.4 A % 56.902 1000 56.784 100.0 A 02
% A & 56,902 1000 56,784 100.0 A 02
T & £ 56,902 1000 56.784 100.0 A 02
% H & 56,902 1000 56,784 100.0 A 02

(BH) HBBIMBEMBER
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OEXREEYIEEE

5 g FR30EE SHTEE
¥ Eam | Bkt Fam | Bt | dErek
L B H B O F % # 89,422  16.9 82 811 17.8 A 7.4
2. & % H & 133 0.0 123 0.0 A 75
3. Bt E i A 138 0.0 127 0.0 A 80
4 4% A & 25, 958 4.9 618 0.1 A 97.6
5. % i) A 34,171 6.5 35, 416 7.6 3.6
6. % 379,400  71.7 346, 600 745 A 8.6
% A & 520,222  100.0 465 695  100.0 A 12.0
.E £ % 0 B = %2 & 492,038 93.0 419, 290 90.0 A 14.8
2. f& - 37,184 7.0 46, 405 10.0 24.8
% H & 529,222  100.0 465 695  100.0 A 12.0
(BE) BEMHBEE MR (Bf7 : TH. %)
(Y5
5 g FR0EE SHTEE
¥ am | Bkt ¥ EE | Bk | deek
L B H B O F % # 51, 262 26.9 37, 486 46.4 A 26.9
2. Bt E i A 133 0.1 123 0.2 A 75
3 i A & 32, 757 17.2 42114 52.2 28.6
4 % i A 500 0.3 1,000 1.2 S 428
O 15 106, 100 55. 5 0 0.0 B3
% & 190, 752  100.0 80,723  100.0 A 57.7
1. = x 3 % 187, 460 98.3 78 396 97.1 A 58.2
2. A 3 - 3, 292 1.7 2327 29 A 293
% H & 190, 752  100.0 80,723  100.0 A 57.7
(BH) MRIEERE 5 =R E (Bf7 : TH. %)
O S EE
5 g FRI0EE SHTTEE
¥ a5 | Bk ¥ E 5 | Bk [ daEk
L B ® B ¢ F % # 48, 905 97 4 49400 97 4 1.0
2. i A & 1,322 2.6 1,321 26 A 0.1
% A & 50,227  100.0 50, 721 100. 0 1.0
LB = i =T x B 34, 254 68. 2 43 058 84. 9 25 7
2. A 1 & 15, 973 31.8 7. 663 15.1 A 52.0
% H & 50,227  100.0 50, 721 100.0 1.0
(BF) FaT5 R Bl 7% 2= Bf I (B TH. %)
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3) KEEXRHTE (44D

@ [N AEHIUN X (BiA)
5 g SRRSO SHTEE
FEHE | #BRk FEHE | Bk | gk
1. & ES X = 1, 570, 226 94.2 1, 648, 565 96.0 50
2. = ES 2o X = 97, 437 58 68, 884 4.0 A 293
g A & B 1,667, 663 100. 0 1,717, 449 100. 0 3.0
1. & ES Z A 1, 464, 254 96. 7 1,487,512 97.3 1.6
2. &8 * A & A 47, 205 3.1 38, 223 2.5 A 19.0
3 & bl Ei=| % 1, 000 0.1 1, 000 0.1 0.0
4. ¥ firs & 2,000 0.1 2,000 0.1 0.0
X H = B 1,514, 459 100. 0 1,528, 73b 100. 0 0.9
(07 - TH. %)
@ EARWINE (BiA)
% g SRRSO SHTEE
¥ EE | #BRk FEHE | Bk | dEk
1. 1#© ES & 150, 000 83.1 140, 000 89.0 A 6.7
2. H & 4 26, 900 14.9 13, 900 8.8 A 48.3
3 & Eicl & 3, 602 2.0 3,335 2.1 A 74
4. # 1 - - - - -
g A =) B 180, 502 100. 0 157, 235 100. 0 A 12,9
1. & B x B 488, 270 74.7 508, 559 76.7 4.2
2. & X B #E# E £ 163, 656 25.0 152, 477 23.0 A 6.8
3. F fitg & 2,000 0.3 2,000 0.3 0.0
X H _é 5t 653, 926 100. 0 663, 036 100. 0 1.4
(BEH) KEEREEER (07 - TH. %)
4) TKEFERFFTE (49)
@ [N AFHI U X (BiA)
m g L0 E SHITEE
¥ EE | B FEHE | #rk | dwEs
1.5 * g i 1, 720, 563 58. 5 1, 798, 650 62. 8 4.5
2. = * 4% g = 1, 220, 889 41.5 1, 066, 382 37.2 A 12.7
3 il F) oy 10 0.0 10 0.0 0.0
ld A & it 2,941, 462 100. 0 2, 865, 042 100. 0 A 2.6
1.5 ES -y A 2, b16, 787 92. 6 2,457, 388 92. 8 A 2.4
2. = * a4 & A 197, 980 7.3 186, 695 7.1 AR )
3B Al Ei=| ES 1,010 0.0 1,010 0.0 0.0
4 F fi& & 2,000 0.1 2,000 0.1 0.0
X H = B 2,717,777 100. 0 2,647,093 100. 0 AN 2.6
(B TH. %)
@ EARWINZ (F3A)
4 5 SRRSO & SR A E
FEE | Bk FEHE | #Rr | gk
1. & * & 837, 400 63. 6 980, 000 61. 3 17.0
2. % Bh & 356, 640 27.1 497, 680 31.1 39.5
I = 3 H g % 118, 523 9.0 111, 302 7.0 A 6.1
4. B8 # & 1,528 0.1 7,432 0.5 386. 4
5 & # & 2, 487 0.2 2,314 0.1 AN 70
6. k ik E M F £ XA 363 0.0 320 0.0 A 11.8
7. % 1 & - - - - -
I A & 5t 1, 316, 941 100. 0 1, 599, 048 100. 0 21.4
1. & B4 5.’ B & 1,210, 627 53.3 1,524, 932 60. 6 26.0
2. & * & & = & 1, 059, 543 46. 6 990, 706 39.3 A 6.5
Ik ® ik B F X & 363 0.0 320 0.0 A 11.8
4. K Pt & 110 0.0 110 0.0 0.0
5 F% fi& & 2,000 0.1 2,000 0.1 0.0
b3 H =) it 2,272,643 100. 0 2,518, 068 100. 0 10. 8
TEF) KERREEER (4L FH. %)
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2. R g
D—BESHRE
=% A
. FR2BERE TR
ShoE %8 AL e | Bt
1. 5] 7,882,985 28.7 8,045,267 29.2
2. #b Vil = 5 ) 258,492 0.9 257,405 0.9
3. F| + 2 x fF & 7,760 0.0 13,770 0.0
4. B2 E =2 R £+ & 14,408 0.1 19,574 0.1
SRR X EZEFMSE I XMFE 8,682 0.0 19,803 0.1
6. H B B ® X [ £ 1,206,816 4.4 1,306,994 4.7
7.3 00 7 &/ R A X+ & 67,481 0.3 67,826 0.2
8. B & H B B B X f % 43,337 0.2 63,356 0.2
9. EHIZ MBS AR R BB A6 558,205 20 579,155 21
10. b Vil e el BN fF & 47,259 0.2 50,537 0.2
11. th yil B fF T 5,890,510 215 5,389,055 19.6
NXBEBLZe2XRE N MGFT£ 10,437 0.0 9,772 0.0
3.0 #H € kR U & #H % 167,964 0.6 182,817 0.7
4. A $H kR Ut F #H H 562,592 2.0 569,382 2.1
15. B % H & 4921675 17.9 4,975,507 18.0
16. & b-d H & 1,888,867 6.9 1,934,563 7.0
17. Bf E )7} A 54353 0.2 98,139 04
18. & oy & 109,928 0.4 216,884 0.8
19. #& A & 468,281 1.7 678,392 2.5
20. #& i & 672,457 2.5 691,329 2.5
21. & N A 578,509 2.1 405,467 15
22. = 2,046,300 7.4 1,983,332 7.2
= A = g 27,467,298 100.0 27,558,326 100.0
% H
. ER2SEE TR29EE
ShoE %8 L cEE | Bet
1. & = & 180,821 0.7 182,214 0.7
2. %5 % = 2,081,683 7.8 2017548 7.6
3. B et & 9,132,081 34.3 9,319,250 349
4. & & & 2422896 9.1 2920,538 10.9
5 % & = 15,5636 0.1 18,959 0.1
6. 2 K 7K )3 E = 366,053 1.4 513,853 1.9
7. ™ T & 264,769 1.0 558,416 2.1
8. X = 3,258,637 12.2 2,847,035 10.7
9.8 93] = 168,233 0.6 259,406 1.0
10. B = 2,356,521 8.8 1,826,082 6.8
1. % = 15 I = - 0.0 - 0.0
12. & = 2,421,723 9.1 2,287,552 8.6
13. B g8 = 3,965,426 14.9 3,909,983 147
14. % % % - - _ _
= H = g 26,634,279 100.0 26,660,836 _100_0
TER) W e B = ol Ik (BEhz:TH. %)



2)RBIRETRE

OEERERR
B g LR 285 E TR 295 &
s EE | #Hn cEE | g
1. R & B & KB B 1,303,857 16.4 1,221,101 155
2. & 53 H o 1,662,058 20.9 1,586,154 20.1
3 E & KB f B2 X & & 232,949 2.9 137,222 1.7
4.5 B B B B X & & 2,031,992 255 2,313,818 294
5 & % H & 375,926 47 409,106 b2
6. B F X X A % 1,740,442 21.9 1,591,840 20.2
7. #& A & 600,695 75 604,296 7.7
8. 18 oA % - - - -
9.7 g A 14,787 0.2 18,344 0.2
% A & B 7,962,706 100.0 7,881,881 100.0
1. %8 7% & 132,710 1.6 158,842 2.0
2. 1% b e} £F & 4,881,443 58.8 4818,455 594
AR e W EXIESE 753,604 91 733,682 9.0
45 B B B E WM e E 5356 0.0 2,736 0.0
BE N B B B o#H % 24 0.0 16 00
6. # b £F & 268,176 3.2 250,233 3.1
7.H B OF (X W OH £ 1,731,673 20.9 1,682,331 20.7
8. & e = * & 56,172 0.7 57,507 0.7
9.7 53 H o 90,417 1.1 78,983 1.0
10. % 1#% % - - - -
e & BE & £ ® B € 379,665 46 331,713 4.1
% H = 5 8,294,419 100.0 8,114,498 100.0
(B K75 20 B 75 = RABRER (Eh7:FH. %)
QLB EER
BB TR 284 TR 29 &
s EE | Bk cEE | BRk
TR EmEEERERRBRHE 638,678 76.3 679,088 76.1
2. ® E % H & - - 120 0.0
3. & A & 197,782 23.6 212,674 23.8
4. #& i & 382 0.0 136 0.0
5 5 g A 785 0.1 1,252 0.1
% A & 2t 837,627 100.0 893,270 100.0
1. %8 % E=y 35,430 42 40,187 45
2. Y EmEERLAEESMANE 801,276 95.7 848,912 954
3. % 1 % - - - -
4. 3% * H & 785 0.1 1,094 0.1
% _ _ﬁ _ﬁ 5 837,491 100.0 890,193 100.0

(B R E M B =M I (B FH. %)
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X 5 28 E R0
hEmE | Bk B | EBRk
1. M * Z3 53 l 951, 414 22.9 984, 340 22.5
2. == % H & 850, 298 20.5 960, 883 21.9
3. & % H & h4b, 465 13.2 565, 015 12.9
4 % H E T O & 1,014, 983 24.5 1,048, 807 24. 0
5 Bf I3 v A 81 0.0 81 0.0
6. #E A & 617, 701 14.9 654, 245 14.9
7. ¢ 21 & 167, 188 4.0 167, 450 3.8
8. & v A 82 0.0 448 0.0
= A = 5 4,147, 212 100.0 4. 381, 269 100. 0
1. #& b E=y 147, 269 3.7 1565, 943 3.8
2. £ R el £+ E=y 3, 57, 362 89. 4 3, 615, 717 87.0
30 B X B T X 2B 103, 840 2.6 210, 790 5.1
4, H & & hva & 143, 946 3.6 153, 465 3.7
5 ## b4 & 27, 345 0.7 17, 783 0.4
6. % % % - - -~
= H = £ 3, 979, 762 100.0 4,153, 698 100. 0
(BHL) HAFEER AT = B B (Eh7: 7M. %)
@K EREEY
X 5 K28 SERR20%
S Em | #Ekt B | ERk
1. B % H & 207, 625 43.1 1565, 208 50. 2
2. 1% A & 45, 921 9.5 34, 495 11.2
3. fe 21 & - - 2,515 0.8
4. = 228, 200 47. 4 116, 900 37.8
= A = 5 481, 746 100.0 309, 118 100. 0
& # XK & B 1B 5 £ & 372, 820 77.8 291, 275 94.7
2. N = =% 106, 411 22.2 16, 277 h.3
= H = g 479, 231 100.0 307, b52 100. 0
(B BBmM A= IR (Bf7 - TH. %)
@IS EE
5 5 A28 SE R0
R B | B B | HElk
1. Bt E % A - - - -
2. 1% A & 79, 202 100.0 57,020 100. 0
53 A = g 79, 202 100.0 57, 020 100. 0
L®E & ® I % - = - =
2.+ # HEH B F %X & 21,896 27.6 - -
3. N = = 57, 306 72. 4 57, 020 100. 0
B 79, 202 100. 0 57, 020 100. 0

(BB - TH. %)
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OEXREFEYIEEE

5 5 RS LR 29 E
e | #Ek e | Bk
1.5 A B &k U F #H H 77,791 18.0 78,118 13.0
2 H & % H & - - - -
3. & % H & 132 0.0 139 0.0
4. Bf E i) A 33 0.0 23 0.0
5. & A & 114 0.0 263 0.0
6. ™M & 349,200 80.9 501,000 83.2
7. Iy A 4720 1.1 22,643 3.8
= A =) g 431,990 100.0 602,186 100.0
1. E ¥ N 1B F X # 401,753 93.0 570,836 948
2. & =y 30,237 7.0 31,350 52
3 H =) 5 431,990 100.0 602,186 100.0
(BE) BEHEE MR (Bf7 : THA. %)
(Y5
5 5 RS LR 295 E
e | #Ek e | BRk
1.5 A B &k U F #H H 8,173 26.8 7,548 2.2
2 Bt E i) A 50 0.2 29 0.0
3. #& & 21,762 714 16,659 49
4. & - - 314,700 929
5. i@ # & - - - -
6. 4 A 500 1.6 - -
B & B 30,485 1000 338,936 100.0
1. & =X S E=y 30,485 100.0 338,936 100.0
2. 1 % - - - -
% H & B 30,485 100.0 338,936 100.0
(BH) MRIEERB S =R R (Bf7: TH. %)
O ESEE
5 5 RS LR 20EE
SR E %8 | #mk R | #Bak
1.5 B # kX v F # ¥ 47.600 904 49,306 911
2. Bt B X A - - - -
3. ¢ A & 5,077 9.6 4831 8.9
4, 3% X A - - -
% A & B 52,677 1000 54137 100.0
1. B =) 5 = E— & 23,923 454 25,466 470
2. 1 % 28,754 546 28.671 53.0
% H & B 52677 100.0 54137 100.0

R BRSO BEEN e
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3) mMAEME

(BREERBE)

B > - BMEES [HEICL2HER
F K T # (m) 2 ®m (m) & #EEFR | & £(FMD () ()
25 EE 4, 398, 080. 88 249, 203. 33 100, 618 4, 645, 506 386, 100 1, 798, 694
26 4,412, 624. 46 255, 856. 47 93, 482 4,729, 387 386, 100 1, 803, 840
27 4, 558, 846. 17 259, 630. 23 83, 497 3, 846, 780 386, 100 1, 803, 840
28 4,634, 731. 07 258, 909. 02 77,187 4,513,471 386, 100 1,739, 539
29 4,661, 050. 16 255, 428. 57 71, 760 4,700, 655 386, 100 1, 739, 539

(B HMBHMBEERM - ZHR
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4) KEERRHRE

@ NI (BisA)
” g T2 E TR29EE

scEE | s rEE | #gek | sust
1% % ¥ 1,760,882 96.7 1567,718 941 A 110
2.8 %2 4 W 59,937 33 96,161 5.8 60.4

3. Gl £ - - 1,267 0.1

¥ A & 1,820,819 1000 1,665,146 100.0 A 85
1% ES % 1,656,733 92.8 1,482,246 971 A 105
2B x5 & 47,630 27 42515 2.8 A 107
3. # Gl 8 81,842 46 1718 0.1 A 97.9
% H & 1,786,205  100.0 1526479 100.0 A 145
(7 TH. %)

@ EANINZ (BisA)

5 g T2 E TR29EE

scEE | s EmE | #wek | waiak
1. & £ 150,000  54.9 150,000 82.9 0.0
2. & 12,900 47 23,500 13.0 82.2
3. & 1 110,305 404 7431 4.1 A 933
X A & 273,205  100.0 180,931 100.0 A 338
T8 =/ % B 612,895 80.0 545,555 775 A 110
2 E B B E 152,874 20.0 158,166 225 35
% H & 765769  100.0 703,721 100.0 A 8.1

(BH KEEREEER

5) TKEEXRKFRE

(B - FA. %)

@ MBI (FiiA)
5 g TR 2SEE K29 E

cEE | Rk sEfE | #gmr | 9aiEk
1.8 ES v 1,677,803 57.1 1,689,127 58.3 0.7
2.8 ES 4% g 1,259,831 429 1,207,559 41.7 A 4.1
35 Bl) F 0 0.0 7 0.0 -
g A & 2937634 100.0 2,896,693 100.0 A 14
1.8 ES & 2,415,748 90.6 2423827 91.1 0.3
2.8 ES 2 -y 250,734 9.4 235,338 8.8 A 6.1
3. 4 il il 199 0.0 296 0.0 48.7
* s = 2,666,681 100.0 2,659,461 100.0 A 0.3
(EfL - TH. %)

@ EAINE (Fiar)

A 5 SRR 284 SRR 2O

REE | Bt 2B [ Bk | dEEk
1. & ES & 512,700 57.2 340,100 61.0 A 33.7
2. 1 Bh & 249,980 279 83,890 15.0 A 66.4
3. 1th = 5 H & & 128,726 144 129,920 23.3 0.9
4. 8 #H & 1,172 0.1 259 0.0 A T7.9
5 4 H#H & 4000 0.4 3,599 0.6 A 10.0
6T =®= & # £ - - - _ -
7.k bt B f F ¥ XA 65 0.0 162 0.0 149.2
8. 15 & - - - - -
IR A & B 896,643 100.0 557,930 100.0 A 378
1. 8 54 5. B -y 850,638 424 420,554 27.2 A 50.6
2. 1 ES & 18 = & 1,156,616 57.6 1,122,763 727 A 29
3k H It B f = (¥ & 65 0.0 162 0.0 149.2
4 3R = & 97 0.0 415 0.0 3278
* s = it 2007416 100.0 1,543,894 100.0 A 23.1

(EE) KEmrE e A (B TH. %)
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3.7 W &

1) Zl2h - BEFSABRBEN

(BEEH)
BAA () EA - BiiE ()
£ E % (M)
bl mst hil%) Mot
R 254 BE 4 4 1 13, 801, 985
26 3 2 1 8, 844, 372
27 26 12 27 3 325, 643, 075
28 7 6, 920 12 5 107, 113, 322
29 11 16,020 11 4 216, 224,122
(BH) BEDHMBEEYMHE SERBEDAEE
2) FHEDER
CER294F EER)
F & DR e (5 &% (M)
1w 16, 046 216, 224, 122
FECXEFE(FECESET) 2,792 37, 574, 701
KEBETEDEE DL YBE(EFE I YHERSTET) 827 11, 032, 000
FOE - UEIRBEEE (FOF - UEIREESTET) 191 2, 460, 000
BEYREAPEBIOEL (BEEREALEBSRSTET) 366 9,051, 418
AR—VIREEE (R AR —VIREBESTET) 303 4,110, 000
HABUHEETE B EEHERSTET) 608 9, 375, 000
BERBEE (BEREESET) 997 14,191, 000
mRIZEEME
NEFEEE -
FRIGRE 1 500, 000
EFH5 O Y HERESTET 9, 961 127, 930, 003
(B HRESMBEMEE EIREBLERE
F) R—LAR=—SETOFERAREFELBVFHZRL
3) FELDHFEFBHEX A DTH
(HEEH)
BA () EA - B ()
£ E % (M)
bil%) mst hil%) Mot
24 BE 3 - 8 - 662, 000
26 1 - 6 - 1, 040, 000
27 1 - 5 - 540, 000
28 1 - 9 - 1, 400, 000
29 1 - 8 - 660, 000

(BH) MFERM =M BER
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